THOFREER )1 13% FFHMK xlsx

#rr| AEB | Al | =| BB Hh 44 RE
. a—2
1| R6.4.1 |Z{Z)I||%&|1.000kp-108 %;’EII%IZ = ]
cd -k 3
BX BF
2| R6.4.2 |Z{E)I|%x=|4.000kp+106 i RykRrIL
FUBRRTF
iR
3| R6.4.2 |Z{E)I||x=|7.250kp+125 %%IIIZET B4
ELE
o N _ EX BEEMIR
4] R6.43 |R{E)Il|%E=|9.250kp-74 HOLET | RH
o " . ERX LB
5| R6.44 |ZAF)Il|%R6000kp+80| g Qo pAf L
. DVDTv¥
Lrmpivd = _ &;EIE o ,:
6| R6.4.4 |ZfE)I]|x=| 2.250ko-66 ch S 37 Qéj.fé’
7| R6.45 |%{E)Il|%#|8.500kp+54 %IZ FRE
LEHT
wx  |Ean
- " . X
8| R6.4.8 |Z&fE)Il|%R|7.250kp+125 £)(B | RykRRL
E-—L%




THOFREER )1 13% FFHMK xlsx

&rr| SAEB | A | F| AR h 44 RE
=X FEAXFO—)IL
9| R6.4.10 | &fZ)I|x%[9.250kp-35 4 | LIBT E=—J
RybkRMLE
HX TEEH
10[ R6.4.12 | %&{Z)I||%=#|6.000kp-56 LF E=——JL
RybRMLVE
o ” EX o
11| R6.415 | &{E])Il|%#%[9.000kp+9 SRILIT 54
- " B AR |[ZEE
12| R6.4.16 | Z&{E)Il|%#|2.500kp-82 R SRS
13| R6.416 |RAE)II| 5% 2750k0+50|  srapm | QG MRRLE
=y w §E Sy Rk 1T
14| R6.4.18 | % {&)Il|%=#%|21.000kp+0 P~ AP
iy " _ EX E=—0
15| R64.22 | ZAE)I| 2% 7500k0-62  soyyipr | pkp L
16| R6.4.23 | Z4E)1||&#|7.250kp+125 =X YRR L

£l |E-—L%




THOFREER )1 13% FFHMK xlsx

&rr| SAEB | A | F| AR h 44 RE
ey o BAaRX |RybkERRL
17| R6.4.24 | Z&{Z)Il|H#%|3.250kp+73 e [E iy
oy " . X |8#%<T
18| R6.4.27 | &1Z)I||5R|4.250kp+111 Tl DY
ey " BAMR |[FS5RAFYIR
19| R6.4.30 |Z1{HF)Il|%#|0.750kp+18 B ok
20| R6.4.30 |Z&fE)Il|%==(9.000kp-94 fé% IR
=% ” . ERX BER/XIL
21| R6.5.1 |ZFlI|5#|7.000kp+204 SEE  |Rmee
[=Pavd w §E *%
22| R6.5.2 |&fH)Il|=#(6.000kp+20 e P
=z " . EX (fERFO—L
23| R6.5.4 |[ZFl)II|#E=|7.000kp+204 HEE  |RylRRL
arnAa
+#
24| R6.5.7 | Z&fZ])Il|%#|6.000kp-3 %% RybkRkL
TEE

E-—%




THOFREER )1 13% FFHMK xlsx

| &R | A | F| EEEE 4 NE
§E 9—3—71'3“}71
25| R6.5.8 |Z&f&)Il|%E#|13250kp-13 R D A
Ky 27—k
5% gy
[wm kvl e —
26| R6.5.10 | RAE)II 2% |7.0000-114)  wiyy g (g2 o
E-—ILi—hEE
ey o _ ERX a—>
27| R6.5.13 | &Z{EJIl|%#[9.500kp-38 fLIET Tk Ak
o » ERX F—FaoTh—F
28| R6.5.14 | &{&)Il[#5=|8.500kp+92 gEE |Az
o+ " _ BAR |E—ILy—R
29| RE.5.15 | ZAFIII| %k 1000k0-101) LTl | Ruprfip L
=5 = ERX |#BRoshf-g=
30| R6.5.16 | Z=F})I|==[0.500kp+58 FE Ay
31| R6.5.17 |%&{&JIl|%#|6.000kp—68 % gy
22| R65.17 RN |5%| 700000200 B (TTVE—

Ho}

EE |RybRrLE




THOFREER )1 13% FFHMK xlsx

#er| AER | AN | & R 4 RE
33| R6.5.21 |Z&f&)Il|%=#%[9.500kp-70 4 | LIBT eEA
E-—IL%
5z EEA
34| R6.5.22 |&{Z)Il|=#|9.250kp-5 SRl RykBERIL
HhyTHEERE
. N _ ERX .
35| R6.5.27 |Z&fE)Il|x#%(9.250kp-5 SRILIT 4
. " ERX R
36| R6.5.30 |%fZ)Il|%5R|12.500kp+6 amyE 1
. N ~ ERX HY-1=&#
37| RE.531 | ZAFII| &k (4750k0-105|  mar | pofip L
38| R6.6.3 |Z&fE)II|==|5.250kp-81 ﬁ% A AIVERE
sz |mam
39| R6.64 |REEN|=H| 725004125 Ehim |G RRL
E-—%
. N ~ ERX .
40| R6.6.7 |Z&fE)Il|=#|9.500kp-70 4 (LI BEE




THOFREER )1 13% FFHMK xlsx

#rr| &R | A [F| EEEE Hh £ NE
41| R6.6.10 | Zf&)Il[%|5.750kp+24 ﬂ%%c%ﬁﬁ %EE‘RHL%
42| R6.6.10 | &ZfE)Il|Z=#[4.250kp—97 %Eﬁ HExE
43 RO6.10 | RN |wxlroove-ttel SB[ ABEEL
44| R6.6.11 |Zf&)Il|=%[9.250kp-6 ﬁfmlzm igﬁ;
45 R6.6.12 | ZfE)Il|%#(8.750kp—3 %E'ZT igj"—:_”’
46| R6.6.12 | =%})1]|=#|1.000kp+10 %% FHABERE
47| R6.6.13 | &{E)Il|%=|0.000kp-259 %;’EII%IZ BEzE
a8| R6.6.13 |Zef )il [mx|5000p-51| EAR | EEB/AT

Mg | TI52—%




THOFREER )1 13% FFHMK xlsx

#rr| AEB | Al | =| BB Hh 44 RE
49| R6.6.16 |ZfE)II|%#|6.500kp+90 ﬁmﬁ} BiRE
. E=Rt
50| R6.6.24 |%fZ)Il|%=|2.750kp+88 ﬁ%ffﬁlzm :I:?Sssél,\%ﬁ
RybRFIVE
=R A 4
51| R6.6.24 |Z4Z)11|x~|6.250kp0-120 BT BBQR &
ELE
i N . X |BBQRAEH
52| R6.6.26 |ZfZ)I||%E#%[4.750kp+107 FEH SRR
. .\ EBqX  (4YTLF1T
53| R6.6.27 |&{&)Il|%=#|7.250kp+74 EJBT |TLFR—RE
54| R6.7.3 |RfE)II|=#|8.250kp+24 %‘z} BERE
ERX "
o " . E=—LH—X
55| R6.7.4 |Zf&)Il |AH#|5.750ke+118 LS dox s
TERE
m
. . . ER TEE
56| R6.7.5 |RAZII|ZR(1.250k0+125 o) g ’é‘yM{Hb
——J)




THOFREER )1 13% FFHMK xlsx

#rr| AEB | Al | =| BB Hh 44 RE
" B X o
57| R6.7.8 |&fZ)I||=%|3.250kp+66 ey N7
- " B £RX - _
58| R6.7.8 |ZfZ)I||Am|11.250kp-117 Z24% 11 HiEEIL—LA
v w " ﬁﬂg 7’519"“/71&
59| R6.7.9 LZE)| [B5[2.750kp+50 HIH E%E‘/%
i N _ EaX (BBQRAEM
60| R6.7.10 | Z&{&JI||=&[1.750kp-118 hE Syl
BAR oS
61 R6.7.19 | Al m#|0.T50kpt6| o |EEE
RybRrILE
- w §E I/:/"V_: _}‘
62 R6.7.23 | & {&)Il[£#|6.000kp+20 WA |a—o=
sx (B
63| R6.7.23 |ZfE)Il|%#|7.000kp+114 AT FLURR
RybRrILE
BK #ir#mE
64| R6.7.24 |Z&{E)I||=%|7.500kp—62 wEEY

SRy RybRVE




THOFREER )1 13% FFHMK xlsx

&rr| SAEB | A | F| AR h 44 RE
ey w _ B X beih YA
65| R6.7.25 | Z&{Z]I||%#|1.500kp-69 h g ToE
66| R6.7.25 |Z%{Z)Il|%==%|8.500kp+56 %'Z fAm—IIL
LT
o o _ ERX E=—JL
67| R6.8.1 |&KfH)Il|%*|6.000kp-56 2 | RyrRRLE
68| R6.82 | ZAFII| =k (4000kot119)  Fogy | QTR L
69| R6.8.5 |ZfE)Il|5#[5.750kp-8 1 2 P HT nyg
®2%
ERX (FERROhT)
70| R6.8.6 |ZfZ)II|%=5|19.500kp-19 SRR x¥E
‘ HETYNE
#X TES
71| R6.8.8 | Z{EZ)I||%%|7.250kp+125 )| |8y RykARRrIL
E-—L%E
=R (ERROEhiz)
72| R6.8.10 |Z2{=)I||%#|19.500kp-19 K\

REF  mype




THOFREER )1 13% FFHMK xlsx

&rr| AEB | ANl | F| R Hh 44 RE
T _ EX (191>F)
73| R6.8.10 |Z{E)Il|%&=|11.000kp-77 REOSE | HS5—FLE
X TEEH
74| R6.8.13 |Z&{&E)I||%~|7.500kp-62 == 1| By E=——JL
RybRMLVE
sz (236
[y " _ X
75| R6.8.13 [Z{&)Il|%#(9.250kp-35 BLET  [E=—
RybRMLE
. " _ ERX B
76| R6.8.19 |Z{H)Il|%#|7.500kp-96 =)0 |Fot—=
R BBQAarO
77| R6.8.20 |%{Z]Il|#%|2.750kp+50 %g% e e
BRN—%F
s N . Z2X RyT—FER
78| R6.8.21 | =Fl]I||5%|8.500kp+104 sEE 5B 5
o . . ERX TES
79| R6.8.21 | ZAE)I| &k 7250k07100|  sigr |geg2Zoo
%% £I3
80| R6.8.23 |ZfZ)Il|%=#%(6.000kp—-3 LF RykRML

mEHF




THOFREER )1 13% FFHMK xlsx

&rr| SAEB | A | F| AR h 44 RE
T . EX |BBQAavH
81| R6.8.23 | &{H)Il|%==[4.000kp+119 205 & RybRrLE
- " EX BBQR &
v _
82| R6.8.26 |Z&{F)Il|%=|7.500kp-62 28 |[Fok—nz
83| R6.8.29 |ZfZ)Il|%=%|9.500kp-70 ?fmlzm HiLE
84| R6.8.30 |Z&fZ)Il [=x|7.250kp+125 )1 [H] RykRML
E=——IL%
= " B X -
85| R6.9.2 |Zf&E)Il |&E%[2.750kp+50 wHE |[BRAL—=
oy, " _ BaR |PavFIS5X
86| R6.9.4 |Z{F)II|==[1.500kp-69 hE 2ok 4 e
87| R6.95 |Zf=])I||4#%|8.500kp+26 g%glzg aAvTFRYIRE
88| R6.9.6 |Z{&)I||a%|13.750kp-78 =X ZEE

RAGROM [(RoMRMLE




THOFREER )1 13% FFHMK xlsx

&rr| SAEB | A | F| AR h 44 RE
s w _ §E 7|<—Z
89| R6.9.11 | Z2{Z)I||%&%|17.250kp-73 sl (#10m)
o » ERX 3
90| R6.9.17 | &f&)Il|%=#(6.000kp+20 WE | wpRRLE
. AV ETE
91| R6.9.20 |ZfE)Il|%=%|2.750kp+15 g,;%% (HYIVBEEH
2LAY)
92| R6.9.30 | &fZ)Il|=#|1.000kp-102 %:’EI%E FLE
oo e o _ ERX BBQAAa>A
93| R6.9.30 |Z&{H)Il|%==|7.500kp-62 £)E |




